





There are 5 tens. They r

There are 3 ones. They r



21
78

57
84
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‘e the number.

93






Count and write hundred:
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Write the number of hundreds, tens and ones.

40 + 8
491 = + +
582 = + +
197 = + ¥
197 = + +
197 = + 3




Count hundreds, tens and




100 100 100 100 100




Read thousands, hundreds, tens and ones. Write
the number.

Fal ol I o

J Thousdanas o© nunarea:

5 thousands 7 hundreds .. (oo« e =

4 thousands 9 hundred:



10




2S

:omplete the table.

21, 795

11



12

Fill in +ha hlanke
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13, 741

2, 642

Cinld4 4l
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d, nine hundred and

te the word.
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The open side faces the box that has more objects.

The closed side faces the box that has lesser objects.
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Let’s look at a few exam
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rer?

\&
There is no smaller numb
&
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er?

S56)

er. Both numbers are equal.



24

72

42

22

38

23

68

86

45

15

13

91

59

53

18

30

51

97

43

97

37

21

85

15

11

97

18

16



er?

259

er. Both numbers are equal.



24

900

130

[

481
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The biggest number is wr

We say that the number:
the smallest to the bigge

9¢c
| _
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356 583
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The biggest number is wr

The smallest number is w

We say that the number:
from the biggest to the ¢
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Let’s arrange these num

850 963

cVo 40cC

in descending order.

VA = | ANO
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703 950 265 140
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There is 1 sweet left ove!
9 is an odd number.
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even | odd
even | odd
even | odd
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There are 20 apples and 30 oranges on Ahmed's cart.
How many fruits are there altogether?

QUIIA Tl 47 Deduos. rtel l1wwiriel BUVES rnelr arnovinel
258 beads. How many beads did Sana have
altogether?




In Class 3. How many !
are there altogether?

In his Math test and 215
>st. How many marks did he

and 103 oranges on Tu
How many tomatoes di
altogether?

Hamza got Rs. 95 on Eid.
»oth Ali and Hamza get
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How many balloons does /

Ali has 5 balloons.

Sana bought £ red ballootl

How many balloons does S

o ] o = o

3+2 =

We can write 3 + 2 or 2
The answer remains 5.
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Tens Ones
5 4

- 3 1

- 1 3
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Tens Ones
1 4
8
(o]

Tens Ones
2 2

Tens
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Step 2:

Step 3:
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— 00

"~

¥ 00

N AN

~ N

—t 00

9

8
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5 8
5

1
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O 8 S 6 0

1

2 6 4

Z..i 7

pRTe)
0O

~ 0
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Step 2:

1 4 2 2
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6 5
7

1

2

v
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were left on his farm?

Wil 1 1IN T %Al 11T

Sana had 148 sweets. She gave away 35 sweets
to her friends. How many sweets were left?
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e left with Sana?
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2 + 2
There are 3 groups.

Each group has 2 bananas.

3 + 3 + 3

There are 4 groups.
Each group has 3 balls.

72

12



73






We say 2 times 4 equals
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6 x 2=

= 5x 2=
" S | 6 8 [ 9 |10
3
X o 6 8 | 9 |10
&
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6 x5 =
. - 6 8 |9 |10
55 |10
A | L c o o | ¥ |1V
10| 10| 20
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3x6=18
3 times 6 equals 18

4 x 6 =24
4 times 6 equals 24

5x 6 =30
5 times 6 equals 30

6 x 6 =36
6 times 6 equals 36

7 X6 =42
7 times 6 equals 42
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4 x 7 =28
4 times 7 equals 28

Bx'T =35
5 times 7 equals 35

6 x7 =42
6 times 7 equals 42
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10

14
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4 x 8 =32
4 times 7 equals 28

5x 8 =40
5 times 8 equals 40

83



84
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2Xx9=18
2 times 9 equals 18

3 X9 =27
3 times 9 eauals 27

6 x9 =54

6 times 9 equals 54
7%x9 =63

7 times 9 equals 63



= 6 x 8 =
. S 8 19 |10
16
4 5 8 [ 9 |10

18

85




We can describe this pic”

There are 3 groups.
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24

18

24

14

40

54

30
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What if we have three si

o)

If we multiply anything t
5 X
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4x2

We can also write this a:

90



(\S)

(&)

X 3
-
X 1
3
X 3
6

91
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—> 1x3=3
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Tens Ones
4
X 4
Tens Ones
4
X 9
Tens Ones
6
X 2
Tens Ones
2
X 5
l.l.
X 3

Tens

X 5

Tens

X 7

Tens

X 5

Tens

X 5
v

X 5

—
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d 3.
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3+1=4
The product of 14 and 3 |
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Ahmed has 6 sweets. San
many sweets do they hav
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3 apples How many af
does he have altogeth

s Rs. 5. Hamza buys
» total cost that he
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__2=_

__-2=___

__2:_
-2 =

i B

_-2=_

__-2=__
_ 2 -

DU I UWe 1l HmIiIsY.

102



: 3
6 divided by 2 is equal to
There are 3 balls in each
-— -— -—
6+3=2

6 divided by 3 is equal t

There are 2 balls in eacl

103



We want to divide them

How many apples can we

§ééd)

12 + 3
12 divided by 3 is equal t
oranges in each box.
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$&Se
$&e
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&S

16 + 8

12 + 6

14 = 7

19 — I
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CEX
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00
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XX

=
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9+3-=

18 + 6 =

107



= 14

2+2=1
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There are 28 biscuits. The biscuits are put equally
in 7 boxes. How many biscuits are put in

The biscuits are put
equally into 7 boxes.

112



She divides them equa
Ali and Sana. How mai
do each Ali and Sana

e puts The balls equally InTo
Ills does he put in each box?

Each student gets 3 pencils.

‘e in the class? |
(gé |

P e e " v vow ---—--, "W v v e e -—

113



They can use a ruler and measure the length in
centimetres. We can write centimetres as cm.

ng.



9 10 11 12 13 14 15
cm
IS cm.
v 1 z 3 4 > ] / 5 kd i u o - 10
cm

The length of the nail is cm.

UL LT LU CLET CU CT R U CUU LU EULT LU R R
9 10 11 12 13 14 15
cm

is cm.
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Write metres as m. we use meftres ror longer objecrTs.

Look at the metre ruler. It is 1 m long.

1 v +all
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The distance between Ali

Minar-e-Pakistan is 5 km.

_IE

Iiie Uuioijulive veilvveell gul

station is 10 km.
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Hamza daraws a line. 1T IS
What is the total length

-,

1 2 A~ 1 E ~rm 7 A rm

+ © <+ + ¢ 111 + c 9
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What is the fotal mass of apples and oranges?
2 kn
+ 3
5



+ 2 3 kg + 5 3 kg + 1 3 kg

121



e

This pot can hold 5 glass

We can also use a standc
to measure capacity.

t of measurement used to
1n write it as L.

ard unit of measurement
/. We can write it as mL.

This has 800 mL of wate:

122



mL mL mL

Subtract the mass of obi~~*-

2 7TmL 8 2
- 4 3mL - 6 5mL - 18L

123



bought 18 metres long
length of both pipes?

1Ss is 40 g. Sana has a ball.
.~ siens o~ s 0 wwedt is the total mass of both

vater. Sana drank 3
mnany litres did they drink

L a W o I ol " 8 nr- - ey ¥y Y TNV T nr- el W —1 Irvm ral R T N MSMIr- T AamrsTaar s

Kg flour and 5 kg sugar.
ss of both flour and sugar?

124



11 15 divided 11110 ¢© BLIUU.I

1 part out of 2 is coloure

1 part our or 4 15 COloUure

% of the circle is colour

The circle divided into 3

1 part out of 3 is coloure
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% of the rectangle is co

The circle is divided into

1 part out of 6 is colour

126



tor
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parts of a whole
that are coloured.

A denominator Shows
the number of equal
parts the whole is

127



whart traction ot the

rectangle is coloured?

abové the line.
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It is Ali's birthday.

Ali‘'s mother cut the cake

Sana ate 1 piece. We car
that she ate % of the c

Ali ate 3 pieces. We can
that he ate % of the cc
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closed side 1€
= equal
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) 6 parts. l/ % \,
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He then erases colour fre¢

What fraction is left col

-l-\|l\>
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The longer hand is the m
hand. It shows us the mi

The shorter hand is the |
It shows us the hours.

R A - -l - -

144
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The minute hand is at 4. This means it is 20 minutes
after 6 o'clock. We write 20 on the right hand side.
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al I1rie ourivult.

The time is 8 a.m.

at 9

a.m.

p.m.

a.m.

p.m.
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It will be 7 o'clock
after 2 more hours.

150




Ali left the house at 6 o'clock. He reached
Islamabad after 5 hours. What was the time?

Anum started her homework at 2 o'clock. She
finished it in 3 hours. What was the time then?

151



It is 5 : 00.

We say it is 5 o'clock.

It will be 2 o'clock
1 hour before 3 o'clock.
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It is 3 o'clock. Hassan started his homework 2
hours before. What was the time then?

It is 5 o'clock. Sana wen:
before. What was the tir

153
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We can draw a line from
centre to a point on the

on the circle to another |
through the centre.

Look at the circle. Tell w
radius or diameter.
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Each side is 3 cm long.
What is the total length of the square?

3cm + 3cm + 3cm + 3cm = 12cm

158



Find the perimeter of the

4 cm

2 cm 2 cm

4 cm

ccm + cdm + <



T "l 1711 1% | W] fr—

7 cm

2 cm

7 cm

reiunlieiel =
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Imran buys four types of fruits. He uses a picture
graph to show the number of each type of fruit

-
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-h Chila reaa.

Haris:
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